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#pendulum.m

function dx = pend(x)

L=1;

g=9.8;

dx(1) = x(2);

dx(2) = - g/L*sin(x(1));
endfunction

t=linspace(0,10,50);
#x0=[0.1;0]
#x=1sode ("pend" ,x0,t) ;
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Octave:> source("pendulum.m") ;
Octave:> x00=[0.1;0];
Octave:> X1=1lsode("pend",x00,t);
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octave:> plot(X1(:,1),X1(:,2);
hold on
plot (X2(:,1),X2(:,2),°r?);

>
octave:>
>
octave:> plot(X3(:,1),X3(:,2),’g’);
>
>
>

octave:
octave:> plot(X4(:,1),X4(:,2),’b?);
plot(X5(:,1),X5(:,2),’m’);
plot(X6(:,1),X6(:,2),’c?);

octave:

octave:
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#vanderpol.m
function dx =vanderpol(x,t)

mu=1.0;

dx(1) = x(2);

dx(2) = mu*(1-x(1)"2)*x(2) - x(1);
endfunction

t=1linspace(0,20,200);
x=1sode("vanderpol", [0; 1.0],t);

p=10000000000000000
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X = sy (6.9)
CC% = Rr—y—uaz (6.10)
% = ay—bz (6.11)
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#lorentz.m

function dx =lorentz(x,t)

s=10;

R=28;

b=8/3;

dx(1) = -s * (x(1)-x(2));
dx(2) = R*x(1)-x(2)-x(1)*x(3);

dx(3)= x(1)*x(2)-b*x(3);
endfunction

t=1linspace(0,30,3000) ;
x=1sode("lorentz",[0; 0.03; 0],t);
plot3(x(:,1),x(:,2),x(:,3));

oooboboobooboboboboboboooooooooooooon
00 (00000000)0000000o0ooo0o0oooo0ooooooooo
gbooobooooboobooboobOobooobooooooooobooooon
gbobooboooboobooboobooboobooboooooboooboooaoon
oooooooooon

OO00O0CORossler DOOODOOOO

doe (6.12)
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Figure 6.3: Rossler 00 OO OO0



